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The University of Jordan General Physics (1) (0302101)
Faculty of Science Final Exam First Semester 201672017
P_i& D_oErt-ul Exam Duration: 120 minutes
o Student’s Name:....' = = Stadeat'sID. %

Note 1: Following are simple 25 multiple-choice questions. Wrile the symbol of correct
answer in the answers’ table. Qnly the answers in the table will be ”
Note 2: Ignore air resistance in all problems and take |g| = 9.8 m/s” at the Earth's surface.
Note 3: The significant digit notation is not taken into account throughout the given

answoers.
Answers’ Table
Question Symbolof  Question Symbol of
number correct answer | number | correct answer
d 14 o
= e a
e 16 C
C B @ e
e 18 d
6 - 19 b
7 d 20 e
B b 21 e
9 (=) 22 = |
S a A
11 - ol | h'___
12
__18 &

'ul:nmummtuxmmmmmmmmmmw:
X(2) = 3t? = 47 + 2t = 5, where X is in meters and t is in seconds. The magnitude of the particle’s

acceleration (in m/s’) at t = 2 sec is:
| a. 50 b. 40 c. 13

(5]

e. zero

Q.2: The adjacent figure shows the positions of three masses
with their x, y and z coordinates. f M, = 10 kg, M; = 20 kg

| and M; = 70 kg. numnnmmmﬂmldmmerd
mass of the adjacent set up are:

2.(0,0,0) b. (2, 0.3, 0) \:. (-1, 0.6, oﬂ
d.(1,-2,0) e (03,2 0) -




2

"Q.3: A ball is fired with an initial velocity of 30 m/s that makes an angle of 60° above the horizontal

direction. The speed (in m/s) of the ball after 2 sec of its launch is:
a. Zero b. 9.8 € 200 d.263 °

Q.4: A 2-kg hanging mass (m,) is connected by a string over a pulley
10 a 20-kg block (m;) that is sliding on a 50° fixed inclined plane (see
the adjacent figure). If the pulley's mass and the mass of the string are
mﬂigihk.mduﬂwfmmfr&ﬁmmmenwﬁmﬂth
acceleration (in m/s’) of the moving system is:

a. 8.56 b. 9.80

d. 11§ c. 0.48

I'o.s A 50-kg object slides from rest from point A on the rough track
ﬂmnrnﬂuﬂmﬂﬁmlfﬂwwﬁnfﬂwpﬁmhnpmmﬂis T\

forces are acting on the wheel shown in the adjacent

= 10,0 cm and b = 25.0 cm, then the nel torque (in

¢ wheel about the -~

[Note: we use the convention that torques are positive if the
rotation tendency is counterclockwise and are negative if the
rotation tendency is clockwise)

8. +5.53 b.-5.53 c. -1.00 d. 7.00 e.-3.55

Q.7: In a collision, a ISng:.lriniliallymviniulﬂﬁ_ﬁsmnmmaﬂophﬂ.l second. The
magnitude of the average force (in N) on the car during the crash is:

a. 30000 b. 25000 ¢. 15000 d. HMJ e. Zero

Q.8: True or False:
“The work done by a non-conservative force on a particle moving through any closed path is zero™

a True e [b.r'.ml o e




- e R S—
'Q.?:Anobieunfm.‘!k..mvh:wiﬂtmhi&ﬂwbdlyorﬂ“m‘ﬂﬂﬂhhu
object of mass 2 kg moving with an initial velocity of ~3/ m/s. The velocity of the composite object
( in m/s) is:

a.(3i -3.2j) b. {Jf-uj;l ¢ (i +2/) d. (5 =7)) c. (-8 +2))

Q.10: A ball of mass 2 kg is fired straight up with an initial speed of 20 m/s. It rises to its maximum
l:ciglﬂ.mdlhmflllsdnwnmluum:ngmﬂeﬂwxmumﬂmuwk(hndwtmm

ball by gravitational force through the entire trip is:

a. Zero| b. 20.4 c.-204 ~_d. 408 ¢. 408 |

FES——— =. 1

Q.11: The adjacent figure shows a box of mass 2 kg moving on a
honzontal, fntlmnleswurﬁuwithlmdoﬂmiﬂowmhm
-gligit mmmuﬂumhedhmm:lly v

c. 7.67 i d. 231 ¢. 9.80

Q.13: A block of mass M rests on an inclined rough surface. The
inclination angle of the surface is increased to 8, at which point the
block becomes on the verge of slipping. The coefTicient of static friction
of the surface is:

a. sin(B¢) b. ¢ ¢. sin(20¢)
d. cos’(B) ¢. tan(fc)

Q.14: A potential energy function for a two-dimensional force is of the form:
Ulx,y)=3x "y =7x) ). The magnitude of the force (in N) that acts at the point (1, 2) m is:

a. 377 E b.5.83 ’ ¢. 9.80 d. 12.65 e 2541




' Q.15: True or false: “The total linear momentum of an isolated system is @lways conserved”
[Hint: an isolated system is a system that has no net external force acting upon it.]

b. False

Q.16: Two blocks M; = 3 kg and M; = 5 kg are in contact with each other

on a frictionless, horizontal surface, as shown in the adjacent figure. If a
horizontal force F = 16 N is applied to M,, the magnitude (in N) of the
contact force between the two blocks is: —= m

5.2 b.4 d.98 e. Zero

Q.17: Earth exerts a gravitational force on the moon, which causes the moon to rotate around Earth.
: Assuming that the orbit of the moon around Earth is circular with radius R, the work the Earth’s
gravitational force does on the moon as is makes one revolution is:

4 R’ ¢. 2xR d. 7R
-3 . e )
Q.18: ;‘T’" ticle is moving with a velocity ¥ = (6i -2/ + 4k ) m/s. The angular momentum
4@ n kg.m*/s) of this particle about the origin when the particle passes the point (1, 2, -2) m is:

8 ( "\ ij-ﬂ'-l
J
‘e (4 =13j =115k

r2oET
I I .
[O19: A colindetont disk with momentof Ieviin Iy totsts sbost avarionl, | @

frictionless axle with angular speed ();. A second cylindrical disk of
- moment of incrtia |; and initially not rotating drops onto the first disk as
shown in the adjacent figure where they eventually have the same angular

speed (. The ratio (0¢/@);) is:
a. (1,+1) 21, (b. llﬂh*lﬂj c. L72(1+13)

o

_a.0.5R

b. (12§ -3/ -4k) c (8 +14 -13Kk)

d. Sky(ly+ly) el

- Q.20: An engine exerts a constant torque of magnitude 600 N.m in tumning a wheel 100 revolutions..
The amount of work (in J) done by the engine is:

a. 7.23x107 b. 0.77x10** c. 1.15x10* d. 9.04x10” [:. J.num‘ﬂ




Q.21: Att = 0, a wheel rotating about & fixed axis at a constant angular acceleration has an angular
wwufzm.mmmnmmwsmmmmﬁ
the angular acceleration (in rad/s”) of this wheel is:

b.98 c. 265 d.5.0 e. Zero

|

(.22 The angular position of a swinging rigid body is given by: 0(1) = (5 + 1001+ 2 - 4t) rad. The
magnitude of the angular velocity (in rad's) of this body at t = 2 sec is:
a 20 b. 40 .  ¢. 60 d. 80 e. 100

—

e

[Q23. The disk in the adjacent figure rotates with an angular speed @ about
an axle passing through point O and perpendicular to the plane of the disk.
If @, @ and V represent the angular speed, angular acceleration and linear
speed, respectively, then which of the following statements is entirely
correct: o 2 2 e Y

'_,u ‘- ..t

NC MLHl':ﬁ_”M;ﬂ ﬁ ﬂm E;QH ) w
o igible mass. The
an axle that passes through o as shown in the adjacent figure with an

L k.
angular speed of 8 rad’s. 1T M, is at a distance 0.5 m from o and
M: is at a distance | m from o, the rotational kinetic energy (in J) of
the entire setup is: o

5. 250 c. 177 d. 100 e.312

Q.25: In the adjacent figure, a very light rope is wrapped around a wheel of

radius R = 2 m. The wheel is mounted with frictionless bearings on an axle
through its center. A block of mass 14 kg is suspended from the end of the
rope. When the system is released from rest it is observed that the block

descends with constant acceleration of magnitude 5 m/s”. The moment of
inertia (measured in kg.m’) of the wheel relative to the rotation axle is:

..ss.m) b. 37.21 c. 12.98 d.2327 ¢. 9.80 ‘ . ]

Good Luck!!!
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1 A uniform ladder 15 m long is leaning against a frictionless wall at an angle of 53
degrees above the horizontal. The weight of the ladder is 30 N. A 75 N boy climbs
6.0 m up the ladder. The magnitude of the friction force (in N) exerted on the
ladder by the floor is:

2 |Three particles each of mass 6.0 kg are located at (0, 0), (7, 1), and (11, 11). If the
distances are in meters, then the angle (in radians) their center of mass vector
makes with the horizontal is:

3 |Four objects of equal mass (m = 2 kg) are located at the corners of a square of
edge 30 cm. The magnitude of the gravitational force (in N) on any of the four
objects 1s: Hint: G = 6.67E-11 N.m"2/kg"2 and the objects are isolated from the
rest of the Universe.

4 |Two objects of masses ml =450 kg and m2 = 330 kg are separated by 4.00 m. At
what position, between them relative to m1 (other than infinety), can a 53.0 kg
object placed so as to experience a net force of zero from the other two objects?

5 |A mattress of a water bed is 10.0 cm deep. The pressure (in Pa) exerted by the
water bed on the floor, assuming that the lower surface of the bed makes contact
with the floor, is: Hint: density of fresh water = 1000 kg/m”3.

6 Water is flowing at 6.5 m/s in a circular pipe. If the diameter (ki) of the pipe
decreases to 1/2 its former value, the velocity of the water (in m/s) downstream is:

7 |The water level in a reservoir (&S S o1 )3) is maintained at a constant level. The
exit velocity (in m/s) in an outlet pipe 9.0 m below the water surface is:

8 |The pressure inside a commercial airliner (3_3) is maintained at 1.0 ATM
(1.0E+05 N/m”"2). If the outside pressure is 0.30 ATM, the outward force (in kilo
Newton) exerted on a 0.85 m by 2.1 m cabin door is:

9 A puck on a frictionless air hockey table has a mass of 5 g and is attached to a
cord passing through a hole in the surface as in the figure. The puck is revolving at
a distance 2.0 m from the hole with an angular velocity of 3.0 rad/s. The cord is
then pulled from below, shortening the radius to 1.0 m. The new angular velocity
(in rad/s) is:

10 Four particles are connected by rigid rods of neglected mass. The origin is at the
center. Let M1 =7 kg, M2 =4kg, M3 =9kg, M4=4kg, A=3m,and B=5m,
and the system rotates in the xy plane about the z-axis with an angular speed of
4.00 rad/sec, then the rotational kinetic energy of the system (in kilo Joules) is:

11 A 4.00 kg particle has a velocity of (4.00 1 + 5.00 j) m/s. The magnitude of its
momentum (in kg. m/s) is:

12 /A 1000 kg car slides 30 m down a smooth incline that makes an angle of 30
degrees with the horizontal . The change in the car’s potential energy (in kJ) is:

13 A car having a total mass of 1650 kg and traveling at 120 km/h smashes into a
tree. The car is stopped in 0.410 second. The average force (in Newton) acting on
the car during the collision is:

14 /A 6 kg object is released from rest 80 m above the ground. When it has fallen 60
m, it's kinetic energy (inJ) is: (Consider g = 9.8 m/s"2)

15 It takes 220 J of work to stretch a spring 11.0 cm from its unstressed length. The
force constant (in kN/m) is:



16 /A 0.4 kg object is swung in a vertical circular path on a string 0.50 m long. If its
speed is 4.00 m/s at the top of the circle, the tension (in Newton) in the string there
1s:

17 |A particle of unknown mass has a momentum of 26 kg.m/s. After 7.3 seconds, the
momentum of the particle is 67 kg.m/s. Assuming straight line motion, the
magnitude of the force (in Newton) acting on the particle during the interval is:
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Q Number Q text

1

10

A horizontal uniform meter stick is supported at the 50 cm mark has a
mass of 0.50 kg hanging from it at the 20 cm mark and a 0.30 kg mass
hanging from it at the 60 cm mark. The position (in cm) on the meter
stick at which one would hang a third mass of 0.60 kg to keep the meter
stick balanced is:

A uniform square metal plate with side L = 16 cm and mass 1.3 kg is
located with its lower side corners at (0, 0) and (L, 0). A square with side
L/4, its lower side is located at (0, 0) and (L/4, 0), is removed from the
plate. The distance from the origin (in cm) of the center of mass of the
remaining plate is:

A satelite operates at an altitude of 360 km. If the satelite weighs
5.22E+06 N at the earth's surface, its weight (in N) when it is in orbit is:
Hint: consider g = 9.8 m/s"2; G = 6.67E-11 N.m"2/kg"2; M(earth) =
5.97E+24 kg; R(earth) = 6.37E+06 m)

Two objects of masses ml and m2 attract each other with a gravitational
force of magnitude 3.26E-09 N when separated by 32.0 cm. If the total
mass of the objects is 4.50 kg, then m1 and m2 (in kg) are: Consider G =
6.67E-11 N.m"2/kg"2

If some water creatures (4l <8 5la4) can live at depths of one kilometer,
the total pressure (in ATM) they will experience at this depth is: (Hint:
density of sea water = 1020 kg/m”3; 1 ATM = 1.013E+05 N/m”"2; and g
=9.8 m/s"2.)

Two students pull on a horse, also in the xy- plane, where F1 = 120 N, F2
=80 N, theta 1 = 60 degrees, and theta 2 = 75 degrees. The magnitude of
the force (in Newton) that a third student would have to exert on the horse
to make the resultant force equal to zero is:

A Boeing 727 airliner (s_) has a mass of 23,000 kg and the total area of
both wings (top or bottom) is 140 m"2. The pressure difference (in
N/m”2) between the top and bottom surface of each wing, when the
airplane is in flight, must be:

Two blocks, ml = 1.1 kg and m2 = 2.2 kg, are connected by a light string

as shown in the figure. If the radius of the pulley is 1.0 m and its moment

of inertia is 5.0 kg - m"2, the acceleration of the system (in m/s"2) is: (g =
9.8 m/s"2)

A puck on a frictionless air hockey table has a mass of 4.0 kg and is
attached to a cord passing through a hole in the surface as in the figure.
The puck is revolving at a distance 5.0 m from the hole with an angular
velocity of 3.0 rad/s. The angular momentum of the puck (in kg x m”2/s)
is

A wheel rotates about a fixed axis with a constant angular acceleration of
4.0 rad/s"2. The diameter (Lkdl) of the wheel is 40 cm. The linear speed (
in cm/s) of a point on the rim (>’ JY!) of this wheel at an instant
when that point has a total linear acceleration with a magnitude of 1.2
m/s"2 is:



11

12

13

14

15

16

17

A 1850 kg truck traveling at a speed of 5.5 m/s makes a 90 degrees turn
in a time of 3.9 s and emerges from this turn with a speed of 3.3 m/s. The
magnitude of the average resultant force (in kN) on the truck during this
turn is:

Two stars of masses ml =M and m2 =2 M are separated by a distance D.
The distance (measured from m1) to a point at which the net gravitational
force on a third mass would be zero is:

A hydraulic lift raises 1650 kg car when a 700 N force is applied to the
smaller piston. If the smaller piston has an area of 8 cm”2, the cross
sectional area (in cm”2) of the larger piston is:

A constant torque of 25.0 N.m is applied to a wheel, initially at rest,
whose moment of inertia is 0.130 kg.m”2. The angular speed (in rad/sec)
of the wheel after it has made 15.0 revolutions is:

A force (F = 20*t + 14) exerted on an object of mass 16 kg varies with
time where t is in seconds and F in Newtons. If the velocity of the body
was zero att =0, its velocity (in m/s) at t = 5 seconds is:

A wheel starts from rest and rotates with constant angular acceleration to
reach an angular speed of 18.0 rad/s in 3.00 s. The angle (in radians)
through which it rotates in this time is:

A particle moves uniformly around the circumference of a circle whose
radius is 16.0 cm with a period of 0.185 second. The angular velocity (in
rad/s) of the particle is:
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